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QUESTION 1

A DBA migrating an existing database to DB2 9.7 wants to allow the primary and secondary recovery logs to be used
with non-buffered 10. Which statement is true?

A. This behavior is automatically enabled by default.

B. The DB2_LOGGER_BUFFERED registry variable must be set to OFF.

C. The DB2_LOGGER_AUTO_BUFFERED registry variable must be set to YES.

D. The DB2_LOGGER_NON_BUFFERED_IO registry variable must be set to AUTO.

Correct Answer: A

QUESTION 2

A DBA has configured an Oracle data source in a federated database (that references a table named ORA1). How do
you update the statistics for table ORAL at the federated server?

A. Perform the equivalent of RUNSTATS on ORAL in Oracle.

B. Perform RUNSTATS on the ORA1 nickname at the federated server.

C. Perform the equivalent of RUNSTATS on ORAL in Oracle; then perform RUNSTATS on the ORA1 nickname.
D. Perform the equivalent of RUNSTATS on ORAL in Oracle; then drop and re-create the ORAL nickname.

Correct Answer: D

QUESTION 3

In which two environments would intra-partition parallelism be used? (Choose two.)
A. Single database partition, single processor core

B. Single database partition, multiple processor cores

C. Multiple database partitions, single processor core

D. Multiple database partitions, multiple processor cores

Correct Answer: BD

QUESTION 4
Which action can be performed by the ALTER TABLESPACE statement?

A. Change an SMS table space to a DMS table space on any database partition.
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B. Change the size of a container in an SMS table space.
C. Change the EXTENTSIZE setting for a table space on a database partition that currently has no containers.
D. Add a container to an SMS table space on a database partition that currently has no containers.

Correct Answer: D

QUESTION 5

What is required to successfully use the check backup utility (db2ckbkp)?
A. system administrator authority

B. read permission on the database

C. system maintenance authority

D. read permission on the backup image

Correct Answer: D
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